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Select one:

A.
<.z 205000

<. 191200
X 1.5 185000

<z 190772

Your answer Is incorrect

The correct answer is
I 190772
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Your answer is correct.

The correct answer is:
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Select one:
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Your answer is incorrect

The correct answer is:
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Select one:
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_) False

The correct answer is 'True'.

Finish review

4 2nd Lecture Chapter 8
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Your answer is correct
The correct answer is:
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Select one:
True

False

The correct answer is 'True'.
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Select one:
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Clear my choice
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Your answer is incorrect.

The correct answer is:
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